

## Exponent Rules - Review

### Match

$a^4 \cdot a^4$

$a^{20}$   
 $\frac{a^{20}}{a^4}$

$(a^3)^2$

$a^{16}$

$a^6$

$a^8$

$(a \cdot a \cdot a)^2 \therefore (a \cdot a \cdot a)(a \cdot a \cdot a)$

$$1. \quad \underline{a^m} \cdot \underline{a^n} = \underline{a^{m+n}},$$

$$2. \quad \frac{a^m}{a^n} = a^{m-n}, \quad (a \neq 0),$$

$$3. \quad (ab)^m = a^m b^m,$$

$$4. \quad \left(\frac{a}{b}\right)^m = \frac{a^m}{b^m}, \quad (b \neq 0),$$

$$5. \quad (a^m)^n = a^{mn}.$$

Simplify

$$\frac{x^6}{x^6} = \cancel{x^6}^6$$

$$= x^0$$

Expand and simplify

$$\frac{(x^6)}{(x^6)} = \frac{\cancel{x} \cancel{x} \cancel{x} \cancel{x} \cancel{x} \cancel{x}}{\cancel{x} \cancel{x} \cancel{x} \cancel{x} \cancel{x} \cancel{x}} \frac{1}{1}$$

$$= 1$$

Therefore

$$x^0 = 1$$

Is this true for ALL terms that have a zero exponent?

Yes, any term to the power zero equals 1

ex.  $(235.892x^4y^7z^{-3} \img alt="frog" data-bbox="608 715 675 755})^0$

$$= 1$$

$$(7.35x^6y^{17}z^{\frac{11}{5}})^0$$

$$= 1$$

$$7^{-2}$$

$$\frac{2x^2}{x^2}$$

$$= 2$$

Simplify

$$\frac{x^3}{x^6} = x^{3-6}$$

$$= x^{-3}$$

Expand and simplify

$$\frac{x^3}{x^6} = \frac{\cancel{x} \cancel{x} \cancel{x} 1}{\cancel{x} \cancel{x} \cancel{x} \cancel{x} \cancel{x} \cancel{x}}$$

$$= \frac{1}{\cancel{x} \cancel{x} \cancel{x}}$$

$$= \frac{1}{x^3}$$

Therefore

$$x^{-3} = \frac{1}{x^3}$$

This is true for ALL negative exponents

$$\left(\frac{x}{1}\right)^{-y} = \frac{1}{x^y}$$

AND

$$\left(\frac{a}{b}\right)^{-x} = \left(\frac{b}{a}\right)^x$$

$$7^{-5} = \frac{1}{7^5}$$

Examples

Simplify

$$\begin{aligned}\frac{7^5}{7^7} &= 7^{-2} \\ &= \left(\frac{1}{7}\right)^2 \\ &= \frac{1}{7^2} \\ &= \frac{1}{49}\end{aligned}$$



$$\left(\frac{2}{3}\right)^1 \left(\frac{2}{3}\right)^4 \left(\frac{2}{3}\right)^{-7}$$

$$= \left(\frac{2}{3}\right)^{-2}$$

$$= \left(\frac{3}{2}\right)^2$$

$$= \frac{9}{4}$$

# Homework

pg. 199

#1 - 8